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Outline the features and classifications of primary rocks.
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The Government of India Act 1858 transferred the power from the East India company to the British Crown.
However, the system of government that prevailed in India was hardly affected. The changes made were
artificial. Critically analyze. (150 words) 10
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Highlight the significance of colour coded weather warnings for cyclone prone areas given by IMD.
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The Vedic period has contributed immensely to various fields such as literature, religion and philosophy. |faem =

Discuss. (150 words) 10
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The ‘Deccan Trap’ holds substantial natural resource potential. Elucidate. (150 words) 10
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Explain how British economic policies hurt the Indian traditional industries and agriculture. (150 werds) 10
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Explore the impact of ‘same-sex marriage’ on the traditional institution of marriage. (150 words) 10 ;Z: 1;.
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India has substantial wind energy potential, but its spatial distribution is limited. Explain. (150 words) 10

S b JiG iowb ) B
= N S E Il g

7?\— S 57 ) S Sto

SIITOTZ SR Seoacthe Dol L
o S o }W‘?‘/ ) & (-

.
&/
if U;(.D_ =T 3 [ ™31 al?

-—fcf/#/%{ol 2y }—-)57/‘((4

==?b5° NS Sep (D

: ey U R
o g7 TP iy
Q"?_’-’ﬁ Ahd - o fd) f
- STONIT e _75
WW.JZ\ e - o
= e %33’»’ s e ARl

IHEER ® T
T o
femm =fean
(Candidate must
not write on this

margin)

0]




26=)

= 24/( <7~>/6r'# = BT 5 V"F‘:«T
fazird & 3T&7 @7#‘7 Y

_T}* FraE T of = «93%

W/ ) <—7_€?£/1—/
7y [ @i GeT) v g

= v g:—r W‘W?(Tlvzg

e + -

! , gfy - 51145 8

; Jj\w«m XTL H I P
£lS h& 3= </w4/ > —flj

: W?L‘ﬁ' B)qq/cdd/?w— 375
=i o;\;ﬁ7 P:?ZC ety

%}*o ‘</U-1—/ <‘f<ﬁ/fh#y}(\<g,/ z
' /6]
4’?7 ] -<§; / /

BT SR AT 2010 S—
Ud - cf‘ <J(+/ 319 +)Td~ o7 VLS
>ro

Sl s

e wat
BT D

iy

#

IuEER &1 =
T | T
e =g
(Candidate must
not write on this

margin)



iTke Vision

drishti
Te ¥ (I B EW) W TReIE IREv W ST el FhRiS AR ThRIcAh e S The i)
(150 ¥1=%) 10
Explore the positive and negative impacts of work-from-home on family dynamics. (150 words) 10
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Discuss the literary significance and contributions of Kalidasa of the Gupta period. (150 words) 10
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Examine the factors that determine ocean currents and their influence on the global fishing industry.

(250 words) 15
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How did unique forms gi_a_a_r_c_hjte_c_tlgg_d,evelop in the hills of Kumaon, Garhwal, Himachal and Kashmir?
Enumerate with examples. (250 words) 15 | ot write on
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In what ways has party-political secularism undermined the principles of constitutional political secularism
in India? (250 words) 15
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Discuss the global distribution of rubber production and highlight the major environmental issues affecting
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“Transitioning from a welfare-based approach to an agent-based approach is essential for realizing true
women empowerment in India.” Evaluate this statement in the context of the recently passed Women’s
Reservation Act in Parliament. (250 words) 15
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Explain how straits and isthmuses influence global trade. (250 words) 15
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“The more I study the period, the more I am convinced that military inefficiency was the principal, if not the
sole cause of empire’s final collapse.” Discuss the statement with reference to the fall of Mughal Empire.
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movement. However, even before its founding, various nationalist bodies did exist in different parts of the
country. Highlight their contributions towards Indian Nationalist movement (250 words) 15
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